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Q1 a) Y HE Aifiedie « =t e . ; 3
Find value of x in the given number series,
1,040,462, -8.%

b) x and y = TRl FaT. 4
Findxandy

x2+5y2+—

2 -2y (x+3)=0

Rough Work /&= *m



Q2 a) a,b,c,d, e fim i e 7w RA #, (8—a) (8-b) (8-c) (8-d) (8-e)=112 4
W a, b, ¢, d, e =1 Tt .
a, b, ¢, d, e are distinct integers such that (8 —a) (8 —b) (8 —c) (8 —d) (8 —e) = 112.
Find the values of a, b, ¢, d, e

b) A, B,C,D,E e fis miesn @ea €. B o A Feuenn SR A = e Ream @ 4

THASE® E Sae =41 Mesaes e gidter. S’ H ger d e or ® gearsias
D S/ GO Meuaeat e grdiet. A 3t B Sae fega swvmr=an fireen D 9 E vae
e stav= TMesien g™ SRa oTRd. B Saedte e C Sedia Meaiel gHe S
AR, U 133 e rEd B Sadt e aea fad 7

Five friends A, B, C, D, E were playing marbles. A says to B, if you give me 3
marbles you will have as many marbles as E has. But if I give you 3 marbles
you will have as many marbles as D has. A and B together have 10 marbles

more than that D and E together have. B has 2 marbles more than what C has.
Total number of marbles are 133. How many marbles did B has?

Rough Work /&= &m



Q3 IF FHI HEL 4
e
a) i @ HEIE IR (S @ 53)
d e FE i wen
e) I FAN FHAFTG TEAT
INW : 2)TEH &S ST O

b) s we & ble
c) HEIS SFHTET OTER 108 .

) 11 =t 92 (= T 5) 5 ;

Solve the cross number puzzle.

Across 2

a) Product of 3 prime numbers (one of them is 53).

d) Square of a prime number.

e) Consecutive numbers in descending order.
Down

a) Fourth power of a number.

b) Square of a number.

¢)  Product of the digits in the numberis 108.
f) multiple of 11 (endingin 5.)

Rough Work /= =m



Q4 54747 nfor 3602599 M &g 7.91.7. Fra.
Find the GCD of 54747 and 3602599

Q5 T i HEHHIE TR SIS G T A1 G et oA, e A et
TV e SR, AT IS A TR Fovelt TR e el 3 fove

In a cultural programme, 8 chairs in a row are reserved for 4 couples. It is customary

that each couple occupies adjacent chairs. In how many ways can the couples occupy
the 8 chairs?

Q6 i HIYHN IR A el FHioeygs CIPQRS o7 e ol e e 63t 7 5 It o7 ool sy
w9 1350 .

Construct a parallelogram PQRS, without using a protractor, such that two sides
are 6cm and 5cm and measure of one of its angles is 1359,

Rough Work /=1 &m



